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˜!Çþ” ²Ìyhsýßi ¤‚‡Äy=!¡ þ›)”Åôyl !löì˜Å¢†þÐ 
þ›îû#ÇþyíÅ#öì˜îû ëíy¤½þî !löì?îû èþy£ìyëû ’þz_îû !˜öì•þ ¥öìîÐ 

 

 1. Answer any five questions: 2×5=10 

  öë ö†þyöìly þ›„y‹þ!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) Write two sources of diversities in India. 

    þèþyîûöì•þ ÷î!‹þöìeÄîû ˜%!Øþ ’þzêöì¤îû lyô ö¡öì‡yÐ 

  (b) Write two sources of unity in India. 

    èþyîûöì•þ ~†þ•þyîû ˜%!Øþ ’þzêöì¤îû lyô ö¡öì‡yÐ 

  (c) Write the names of two traditional Indian values. 

    èþyîûöì•þîû ˜%!Øþ !‹þîûy‹þ!îû•þ ô)¡Äöìîyöì™îû lyô ö¡öì‡yÐ 

  (d) What is great tradition? 

    î,¥ê ú!•þ¥Ä †þyöì†þ îöì¡Ú 

  (e) Write two features of joint family. 

    öëïí þ›!îûîyöìîûîû ˜%!Øþ ÷î!¢ÜTÄ ö¡öì‡yÐ 

   (f) Write the example of two primary kins. 

    ²Ìyí!ô†þ xyd#öìëûîû ˜%!Øþ ’þz˜y¥îû” ö¡öì‡yÐ 

  (g) Define nuclear family. 

    ~†þ†þ þ›!îûîyöìîûîû ¤‚Kþy ˜yGÐ 
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 2. Answer any four questions: 5×4=20 

  öë ö†þyöìly þþ‹þyîû!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /   

  (a) What is meant by unity in diversity? 

     ÷î!‹þöìeÄîû ôyöìVþ ú†þÄ î¡öì•þ †þ# öîyVþyëûÚ 

  (b) Explain the advantages of joint family. 

    öëïí þ›!îûîyöìîûîû ¤%!î™y=!¡ îÄy‡Äy †þöìîûyÐ 

  (c) What are the basic features of caste system in India? 

    èþyîûöì•þ ?y•þ îÄîßiyîû ²Ì™yl ÷î!¢ÜTÄ=!¡ †þ# †þ#Ú 

  (d) Write a brief note on the changes of Jajmani relations in India. 

    èþyîûöì•þ ë?ôyl# ¤Á›öì†Åþîû þ›!îûî•Åþl !î£ìöìëû ~†þ!Øþ ¤‚!Çþ® Øþ#†þy ö¡öì‡yÐ 

  (e) What are the basic differences between Varna and Jati? 

    î”Å ~î‚ ?y!•þîû ²Ì™yl þ›yíÅ†þÄ=!¡ †þ# †þ#Ú 

   (f) What factors are responsible for changes in family and marriage in India? 

    èþyîûöì•þ þ›!îûîyîû G !îîy¥ îÄîßiyîû þ›!îûî•Åþöìlîû †þyîû”=!¡ †þ# †þ#Ú 

 3. Answer any one question: 10×1=10  

  öë ö†þyöìly þ~†þ!Øþ  ²ÌöìÙÀîû ’þz_îû ˜yG /  

  (a) Explain the general features of tribal societies in India. 

    èþyîûöì•þ ’þzþ›?y!•þ ¤ôy?=!¡îû ¤y™yîû” ÷î!¢ÜTÄ=!¡ îÄy‡Äy †þöìîûyÐ 

  (b) Discuss various types of marriage system prevailing in India. 

    èþyîûöì•þ ²Ì‹þ!¡•þ !î!èþ§¬ !îîy¥ îÄîßiy=!¡ xyöì¡y‹þly †þöìîûyÐ 

__________ 


